Af#ERR

XKELBTHERKRE
# % ETEH R 135 RMBEAEIBIE
Bt B FR275%8A268 (K) 10:51
R AL 5 =ZFETRIE J01RBE
sxEtEa () FE M) B fE il PR i 4% (F9)
4,681,000 3,941,811
E 3 =1 % A g (M) ] %
1 | KBk Xed BEEXRM 4,618,000 |4l
2 |BRXBSHXEIHE K& 4,634,000
3 |ARSHFBRERTIR =HFEXM 4,636,000
4 |BRRXE2HXFIEE KIE 4,642,000
5 [RXEH=2 K& 4,648,000
6 (ARSHESRIEIEMR K& 4,652,000
7 | AR EHKEIRA KIE 4,657,000
8
9
10
11
12
13
14
15

i




Af#ERR

KEBEILHERKRE
# % FTEHA RIS R M1 BRRSEAEIATSE
M 4 H ERE274E8A268 (K)  |BAALESRI 11:06
B L & A =FETRE 01REE
ExEtzE(FM) ¥ EAfhi+&(F) RIEHIBR S (F)
3,629,000 3,629,000 3,059,174
ES & % A ® OB M i@ %

1 ARSI EVYIIE =FEXM 3,200,000 |7&#L
2 |BERS/MBELEIE KIE 58
3 [ARSHTILTHRELIE K& 3,600,000

ARSHBIMER X5

AR ERSDRE XI5

10

11

12

13

14

15

i




AWK RR

XKELBTHERKRE
# % EE2545 N 2RRALERETLS
B 4 B FR2748A268 (K)  |BIALESRS 11:20
R AL 5 PR =FHTRIG 01RBE
Ex&EtE8 (M) F E ffli4E&(F) B fE il PR {E 4% (F9)
2,640,000 2,640,000 2,217,200
E 3 =1 % A A #E (D i %
1 |AREHRHRE KIE 2,633,000
2 [ARSHTILTHRIELIFE K& 2,625,000
3 ARt BSRIEIEM K& 2,600,000 (%L
4 |ARSHELRE XI5 2,630,000
5 ARt SHKEIRM KIE 2,622,000
6
7
8
9
10
1
12
13
14
15
i




AWK RR

XKELBTHERKRE
# % EIEHRISRERBELIS
H # H© TRi2758A268 (K)  |BAALERRS 11:35
R4 5 =FHTRIG 01RBE
Ex&EtE8 (M) F E ffli4E&(F) B fE il PR i 4% (F9)
7,200,000 7,200,000 6,055,680
E 3 =1 % A A #E (D i %
1 |4 XT) o2t K& 6,055,000 |4 (15 ) PR {45 >R 7 )
2 |(KEgEsHtest HEEXMR 6,840,000
3 |ARSHEHHHF XI5 7,000,000
4 (ARSI EVYIIR =HEFRM 6,105,000
5 |ARSHFRERTIFE =FEFRM 6,087,000 |%4L
6 (XU XMEE K& 6,907,000
7 |ARESHAIMER K& 6,087,600
8
9
10
1
12
13
14
15
i
=




AWK RR

XKELBTHERKRE
# % HREHEEEBERR
M 4 B FR274E8A 268 (K) 11:50
Bl #L 35 AR =FE%15 01 RBE
Ex&EtE8 (M) ¥ E A& (F) B {E 1l BR 1 4% (F9)
5,507,000 i
* =1 % A B (M) ] %
1 |BASHKXFIER FIE 5,300,000 (%L
2 |D1RXT)— kA=t KIE 5,350,000
3 BRIV —Y—ERKKEH KIE 5,380,000
4 |BRRX2HABEEERE KIE 5,400,000
5 |ARetISEEE KIE 5,450,000
6 |RAHEHFEE KIE 5,440,000
7 |2 BE)ERE KI5 5,400,000
8
9
10
11
12
13
14
15
i




AWK RR

XKELBTHERKRE
% % =FAT—MCREERAMERHBHERR
I (= FR274E8 A28 (K)  |BHALESRS 13:18
B fl & =ZFHETRIG 01RBE
Ex&EtE8 (M) ¥ E A& (F) B {E 1l BR 1 4% (F9)
9,180,000 9,180,000 6,902,179
E 3 & % A A #E (D i %
| [ARSHXBEEBHAREED + 6,000,000
2 |ZHRESREHRAEE XIE 8,800,000 (%L
3 |[7UBRAEE KIE 9,000,000
4 (AR EPR KiE 8,900,000
5 |ABRStMNRERE FIE 9,050,000
6 AU ZARNE KIE 9,100,000
7 |BRXRHIDI-FAIXD— KIE 8,900,000
8
9
10
1
12
13
14
15
i




Af#ERR

XKELBTHERKRE
% % =FAT—MNCEE B MR EH LR
5 = FR2714E8A26E (K)  |BAALE:RS 13:30
B #L 1% P =FHT%E 01REBE
Ex&EtEE (M) ¥ E i +&(F) B {5 1l PR 1 4% (F9)
11,600,000 11,600,000 8,517,348
E 3 =1 % A A #E D ] %
1 | ZHAERHAEE KIE 11,400,000
2 |BRREKA S HEEHH 11,430,000
3 [HA=utREPR KiE 11,500,000
4 %;E%#ii#ﬁ%%ﬁﬁﬁ SLAHHH 11,500,000
5 |M—hq1TvolkXett EXREXRM 11,600,000
6 |REFRSHEKASHE BERXE 11,230,000
7 ﬁ;ﬁg%gu:yé‘w:‘/wwyv 10,700,000 |41
8
9
10
11
12
13
14
15
i




